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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P6AW

BATIRERA (1.94) , iHSE
FRAVERS S TMMETR (6380 :
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15:35 333 160.0 5| 1Rike15:35 B (REERS)
2it]2664.0 (8%) 1280.0 323 KEC: 2303.0, PH: 6.5

153.0), FAIREKRREERE
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P6AW

BATRERA (2.08) , S
FRAVERS STMETRR (648.0 :

BRIASERRIERE160. 0 ml.

Bria) | GEBERTIE (FD) | BB = (BH/HK) | XS ERE
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14:55 348 160. 0 5| {Ri%e14:55 Bz (REEREE)
21t+]2436.0 (7:%) 1120.0 3 HKEC: 2308.0, PH: 6.5

160.0), FIREKRREERE
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